
Waterwings Leisure Centre 
Waterwings offers lesson in various sports.

It has to pay people to teach these lessons. This is a cost, but it charges the customers a higher price for the lessons so that it makes a profit. It has to be careful not to lower the prices too much or it will not make a profit.
Your task is to create a spreadsheet model that will allow Waterwings to do this.

1. Your model should show:

a. the profit made on each lesson

b. the total amount of profit per lesson

c.  the total amount of profit for all lessons.

2. What is:

a) the profit made on each Child tennis lesson?
b) the total profit made on Child tennis lessons?
c) the total profit on all lessons?

3. What would the Price per lesson of Adult judo have to be if Waterwings wants to increase its total profit to £1200?

4. What is the average profit per lesson?

5. What will the total profit be if Waterwings puts the Child judo lesson on:

a) at an increased price of £4.50
b) special offer at £2.50?













